

05/18/2020

			Vendor Ranking		Page 1 of 1
Letting:	06200430	April 30, 2020 11:00 AM	Call Order: 008	Contract:	E6N16
District:	District 6		Counties: MIAMI-DADE	Fed Aid No	: N/A
Contract Time:	670 CALEN	DAR DAYS		Project(s):	44092657201 (*)
Contract Desc:			E COUNTY - ROUTINE MAINTENAN		

Contract Desc: MOWING KROME AVENUE MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Winning bid	\$360,687.50	100.00%
2	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$387,485.11	107.43%
3	HOME FIELD SERVICES	Non Responsive	Non-Winning Bid	\$413,633.59	114.68%
4	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid	\$448,434.58	124.33%
5	TENUSA, INC.	Non Responsive	Non-Winning Bid	\$469,462.31	130.16%
6	SUPERIOR LANDSCAPING & LAWN SERVICE, INC.	Responsive	Non-Winning Bid	\$506,818.48	140.51%
7	MCINTYRE MAINTENANCE INC.,	Non Responsive	Non-Winning Bid	\$584,915.70	162.17%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



05/18/2020

			Tabulatio	Page 1 of 5			
Letting:	06200430	April 30, 2020	Call Order:	008	Contract:	E6N16	
District:	District 6		Counties:	MIAMI-DADE	Fed Aid No	: N/A	
Contract Time:	e: 670 CALENDAR DAYS				Project(s):	44092657201 (*	)

Contract Descr: MOWING KROME AVENUE MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven Contract that consists of providing labor, equipment and materials to perform mowing, litter removal and edging on various sections of State Roads 997 and 9336 in Miami-Dade County.

Visit www.bidx.com for more information.

	No / Item ID Description	Alternate	Quantity Units	(1) KNIGHT F MANAGEMENT		(2) CATES TRAC		(3) HOME FIE	
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	INE MOWING (AC					
0005 MOWING MACHIN	- (	REGULAR/LAR	7,416.486 GE AC	14.84000	110,060.65	15.00000	111,247.29	25.00000	185,412.15
0010 MOWING	E104 4 2 G (SLOPE)		863.258 AC	28.84000	24,896.36	20.00000	17,265.16	25.00000	21,581.45
0015 MOWING	E104 4 3 G (SMALL MA	CHINE)	1,110.912 AC	48.84000	54,256.94	25.00000	27,772.80	24.00000	26,661.89
0020 LITTER I	E110 30 REMOVAL		17,073.920 AC	9.24000	157,763.02	13.00000	221,960.96	10.00000	170,739.20
0025 EDGING	E110 32 2		923.890 MI	14.84000	13,710.53	10.00000	9,238.90	10.00000	9,238.90
		E MACHINE Se DWING (AC)	ction Totals:	1	\$360,687.50		\$387,485.11		\$413,633.59



Tabulation of Bids

05/18/2020

	Page 2 of 5

Letting:	06200430	April 30, 2020	Ca	all Order: 008		Contract:	E6N16	
Line No / Item Item Descript		te Quantity Units		PROPERTY SERVICE, INC.		CTOR SERVICE	(3) HOME F	ELD SERVICES
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$360,687.50		\$387,485.11		413,633.59



05/18/2020

			т	abulation of Bi	ds			Page 3 of 5
Letting:	06200430	April 30, 2020	Cal	l Order: 008		Contract:	E6N16	
Line No / Iten Item Descript		ate Quantity Units	(4) T.T.C. ENVIE INC		(5) TENU	SA, INC.		LANDSCAPING RVICE, INC.
() indicates iten	n is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 E104 4 MOWING MACHINE)	1 (REGULAR/L	7,416.486 ARGE AC	12.00000	88,997.83	21.00000	155,746.21	29.00000	215,078.09
0010 E104 4 MOWING (SLOP	-	863.258 AC	50.00000	43,162.90	64.00000	55,248.51	60.00000	51,795.48
0015 E104 4 MOWING (SMAL	-	1,110.912 AC	50.00000	55,545.60	64.00000	71,098.37	44.00000	48,880.13
0020 E110 30 LITTER REMOVA		17,073.920 AC	15.00000	256,108.80	10.00000	170,739.20	10.00000	170,739.20
0025 E110 32 EDGING	2	923.890 MI	5.00000	4,619.45	18.00000	16,630.02	22.00000	20,325.58
0001 L/	ARGE MACHINE MOWING (AC)	Section Totals:		\$448,434.58		\$469,462.31		\$506,818.48

**Contract Grand Totals:** 

\$448,434.58

\$469,462.31

506,818.48



## 05/18/2020

22				т	abulation of Bi	ds			Page 4 of 5
Letting	g:	06200430	April 30, 2020	Cal	I Order: 008		Contract:	E6N16	
	e No / Item I n Descriptio		ate Quantity Units	(7) MCINTYRE N INC					
( ) ind	dicates item i	s bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTIO	N: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 MOWIN MACHII	-	(REGULAR/I	7,416.486 ARGE AC	25.00000	185,412.15				
0010 MOWIN	E104 4 2 IG (SLOPE)		863.258 AC	70.00000	60,428.06				
0015 MOWIN	E104 4 3 NG (SMALL		1,110.912 AC	100.00000	111,091.20				
0020 LITTER	E110 30 REMOVAL		17,073.920 AC	12.00000	204,887.04				
0025 EDGINO	E110 32 3 G	2	923.890 MI	25.00000	23,097.25				
		RGE MACHINE MOWING (AC)	Section Totals:		\$584,915.70		I		

**Contract Grand Totals:** 

\$584,915.70

FDOT

05/18/2020

			Tabulation of Bids			Page 5 of 5
Letting:	06200430	April 30, 2020	Call Order: 008	Contract:	E6N16	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.